Efficiency vs P,

- 0.2 T
2 : : :
2 018w R USRI
> E : : :
2 016 -e s RS U
o . : :
o
20.14
0]

0.12F
R SRS TS NE — S—
0.08F - rrrrrfer S S
0065 F- oo cfee o S
0.04F o S S
0.02f -+-meeesiersmneeeens Beoeeeees e

.................................................

.................................................

107 1 10 prT (Ge\})o3

—=— DQM_MmKFIT_ | |or|g‘ﬁ|
—e— DOM_mkKFit_TT p

—— DQM_mkKFit_ TT _pLwW
—— DOM_mkFit_ TT pLW_1H

= 02 T
o F : : : :
S
I F : : : : :
<]_,0.16_
(8]
£0.14
)
0.12
0.1
0.08]
0.06f-
0.04F ; : ;
e ot eSS S
Y| MNINITE INEIFINN NUITIN NI IIINITN U

Ratio

0.95

Efficiency vs ¢

9 0.1
2 Z0. 09
g 0.08
G
E0.0?
()
0.06
0.05 :
0.04F
0.03E
0.02F

TP @



	Contents
	Page 1


